$\frac{dy}{dx} = -\frac{4/x}{x} = -\frac{4}{x} \left(\frac{1}{x}\right)$

2.5: Implicit Differentiation **Example 1:** Given the equation $x^3 - 4y - 9x^2 = 5$, find $\frac{dy}{dx}$ by (6) Implicit Differentiation Solving explicitly for y.
b) Implicit differentiation. $\sqrt{3} - 4y - 9x^2 = 5$ $\frac{d}{dx}\left(x^{2}-4y-9x^{2}\right)=\frac{d}{dx}\left(5\right)$ 3-92-5=4 $\frac{2^{3}-9x^{2}-5}{4} = y$ $\frac{dy}{dx} = \frac{1}{4} (3x^2 - 18x) \cdot \frac{3x^2 - 2x}{4} \cdot \frac{3x^2 - 4}{4} \cdot \frac{dy}{dx} - (8x) = 0$ mple 2: Find \(\frac{dy}{dx} \) \(\frac{1}{2} \times \) \(\frac{1}{2} \ 4= 4 (23-9-2-5) assumpte 2: Find $\frac{dy}{dx}$ for xy = 4. Solve for $\frac{dy}{dx}$. $-\frac{4dy}{dx} = -3x^2 + 18x$.

Solve for $\frac{dy}{dx}$. $-\frac{3x^2}{4} + \frac{18x}{4}$. $\frac{dy}{dx} = \frac{-3x^2}{-4} + \frac{18x}{4}$. $\frac{dy}{dx} = -\frac{4x^{2}}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{array} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{array} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{array} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{array} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{array} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{array} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{array} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{array} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{array} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{array} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{array} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{array} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{array} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{array} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{array} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{array} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{array} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{array} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{array} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{aligned} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{aligned} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{aligned} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{aligned} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{aligned} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{aligned} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{aligned} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y d (x) = 0 \end{aligned} \right| = -\frac{4}{\sqrt{2}} \left| \begin{array}{c} x d (y) + y d (x) = 0 \\ x d (y) + y$ Example 3: Find $\frac{dy}{dx}$ for the equation $x^3y - 2x^2y^3 + x^2 - 3 = 0$. $\frac{d}{dx}\left(x^3y-2x^2y^3+x^2-3\right)=\frac{d}{dx}\left(0\right)$ $\frac{d}{dx}\left(0\right)$ $\frac{d}{dx}\left($ 23 dy + y (3x2) - 2x2 (3y2 dy) + y3 (-4x) + 2x=0 x dy + 3xy - (ex y dy - 4xy3 + 2x = 0 Put into dy = - \$\frac{1}{\chi}

See next poge

Ex 3 contid: $x^{3} \frac{dy}{dx} - (ex^{2}y^{2} \frac{dy}{dx} = -3x^{2}y + 4xy^{3} - 2x$ solve for dy: $\frac{dy}{dx}(x^{3}-6x^{2}y^{2})=-3x^{2}y+4xy^{3}-2x$ $\frac{1}{2}\frac{dy}{dx} = \frac{-3x^2y^4 + 4xy^3 - 2x}{x^3 - 6x^2y^2}$ Note: This is equivalent to $\frac{dy}{dx} = \frac{3x^2y - 4xy^3 + 2x}{-x^3 + 6x^2y^2}$ $\frac{dy}{dx} = \frac{-3x^2y + 4xy^3 - 2x(\frac{-1}{x})}{x^3 - (4x^2y^3)} = \frac{1}{x^3 - ($ $\frac{dy}{dx} = \frac{\chi(-3xy + 4y^3 - 2)}{\chi(-3xy + 4y^3 - 2)} = \frac{-3xy + 4y^3 - 2}{\chi^2 - (6xy^2)}$ Ex 2=; Find dy for xt-5y2+x3-2y3=7y (using implicit differentian - our only spation): d (x+-5y2+x3-2y3) = dx (7y) 43-10y dy +3x2-leg dy =7 dx I chair Rulp 4-73 + 3-12 = 7 dy + 10y dy + ley dy Solve for dy: 4-3-2- dy (7+10y+6y2) (Get all terms with and on one side; all terms without Tivide both sides by 7+ by-leg?: dy on other side) $\frac{4x^3+3x^2}{7+10y+6y^2} = \frac{dy}{dx}$

Example 4: Find $\frac{dy}{dx}$ for the equation $\frac{1}{v^4} - \frac{5}{x^4} = 1$.

$$\frac{d}{dx}(y^{3} - 5x^{3}) = \frac{d}{dx}(1)$$

$$- 4y^{5} \frac{dy}{dx} + 20x^{5} = 0$$

$$- 4y^{-5} \frac{dy}{dx} = -20x^{5}$$

$$\frac{dy}{dx} = \frac{-20x^{5}}{-4y^{-5}} = \frac{20x^{-5}}{4y^{-5}} = \frac{5x^{5}}{x^{5}} = \frac{5x^{5}}{x^{5}}$$

Example 5: Find $\frac{dy}{dx}$ for the equation $(x-y)^4 = y^2$.

Example 5: Find
$$\frac{dy}{dx}$$
 for the equation $(x-y)^4 = y^2$.

$$\frac{d}{dx}(x-y)^4 = \frac{d}{dx}(y^2)$$

$$4(x-y)^3 = 4(x-y)^3 \frac{dy}{dx} + 2y \frac{dy}{dx}$$

$$4(x-y)^3 = 4(x-y)^3 + 2y \frac{dy}{dx}$$

Example 6: Find $\frac{dy}{dx}$ for the equation $x + \cos(x^2 y) = y$

$$\frac{\partial}{\partial x} \left(x + \cos(x^2 y) \right) = \frac{\partial}{\partial x} (y)$$

$$1 - \sin(x^2 y) \frac{\partial}{\partial x} \left(x^2 y \right) = \frac{\partial}{\partial x}$$

$$1 - \sin(x^2 y) \frac{\partial}{\partial x} \left(x^2 y \right) = \frac{\partial}{\partial x}$$

1- sin(x24)[x2 d (y) + q d (x2)]= dy

$$|x + \cos(x^2y) = y|$$

$$|x +$$

ay = - (+2xy sin(x2y)

Finding higher-order derivatives using implicit differentiation:

To find the second derivative, denoted $\frac{d^2y}{dx^2}$, differentiate the first derivative $\frac{dy}{dx}$ with respect to x.

$$\frac{d^2y}{dx^2} = \frac{d\left(\frac{dy}{dx}\right)}{dx} = \frac{d}{dx}\left(\frac{dy}{dx}\right)$$

Example 7: Find $\frac{d^2y}{dx^2}$ for the equation $x^3 - 2x^2 = y$.

Find (# derivative:
$$\frac{d}{dx}(x^3-2x^2) = \frac{d}{dx}(y)$$

$$3x^2 - 4x = \frac{dy}{dx}$$

2nd derivative:

$$\frac{dy}{dx} = 3x^2 - 4x$$

$$\frac{d^2y}{dx^2} = [ex - 4]$$

Example 8: Find $\frac{d^2y}{dx^2}$ for the equation $xy^2 - y = 3$. $\frac{dy}{dx} = \frac{y^2}{-2xy + 1}$ $\frac{dy}{dx} = \frac{y^2}{-2xy +$ 2xy dy - dy = -y²

2xy dy - dy = -y²

2xy dy - dy = -y²

$$\frac{d^{2}y}{dx^{2}} = \frac{(-2xy+1)\frac{d}{dx}(y^{2}) - y^{2}\frac{d}{dx}(-2xy+1)}{(-2xy+1)\frac{d}{dx}(y^{2}) - y^{2}\frac{d}{dx}(-2xy+1)}$$

$$= \frac{(-2xy+1)2y\frac{dy}{dx} - y^{2}(-2x\frac{d}{dx}(y)+y\frac{d}{dx}(-2x)+1)}{(-2xy+1)^{2}}$$

$$= \frac{(-2xy+1)^{2}y\frac{dy}{dx} - y^{2}(-2x\frac{dy}{dx}+y(-2))}{(-2xy+1)^{2}}$$

$$= \frac{(-2xy+1)^{2}y\frac{dy}{dx} - y^{2}(-2x\frac{dy}{dx}+y(-2))}{(-2xy+1)^{2}}$$

$$= \frac{(-2xy+1)^{2}y\frac{dy}{dx} - y^{2}(-2x\frac{dy}{dx}+y(-2))}{(-2xy+1)^{2}}$$

multiply by =1

= - 53

Find the equation of the tangent line to the ellipse, $4x^2 + 16y^2 = 64$ at the point

$$\frac{d}{dx} \left(\frac{4x^2 + (6y^2)}{6x^2} \right) = \frac{d}{dx} \left(\frac{64}{4} \right)$$

$$8x + 32y \frac{dy}{dx} = 0$$

$$32y \frac{dy}{dx} = -8x$$

$$\frac{dy}{32y} = -\frac{x}{4y}$$

$$\frac{dy}{dx} = \frac{3x}{32y} = -\frac{x}{4y}$$

$$5lope: m = \frac{dy}{dx} \left| \frac{1}{2\sqrt{3}} \right| = -\frac{1}{4\sqrt{3}}$$

x-direction: 16 = 4 y-direction. Ja = 2

<u>Definition</u>: Two curves are said to be *orthogonal* if at each point of intersection, their tangent lines are perpendicular.

Example 10: Show that the hyperbola $x^2 - y^2 = 5$ and the ellipse $4x^2 + 9y^2 = 72$ are

orthogonal.

Se bot, telle

$$\frac{d}{dx}(x^2-y^2) = \frac{d}{dx}(5)$$

$$2x - 2y \frac{dy}{dx} = 0$$

$$-2y = -2x$$

$$\frac{dy}{dx} = -2x$$

$$\frac{dy}{dx} = \frac{-2x}{-2y}$$

$$\frac{\partial y}{\partial x} = \frac{\chi}{y}$$

d (4/2+9/2) = dx (72) 8x+18y # =0

$$\frac{dy}{dx} = \frac{-8x}{184}$$

$$\frac{dy}{dx} = -\frac{Ax}{9y}$$

$$3y^2 = 52$$
 $y^2 = 4$

$$y - y_1 = m(x - x_1)$$

$$y - \sqrt{3} = -\frac{13}{6}(x - 2)$$

$$y = -\frac{\sqrt{3}x_1}{6} + \frac{2\sqrt{3}}{6} + \frac{13}{3}$$

$$\sqrt{3} = -\frac{3\sqrt{3}}{6} + \frac{3\sqrt{3}}{6} + \frac{3\sqrt{$$

intresection pts: (3,2), (3,-2) (-3,2), (-3,-2)



82y = (-2xy+1)2ydy-y2(-2xdx+4(-2)) 02 (-2xy+1)2 $= \frac{(-2xy+1)^2y\frac{dy}{dx} + 2xy^2\frac{dy}{dx} + 2y^3}{(-2xy+1)^2}$ Substitute $\frac{dy}{dx} = \frac{y}{-2xy+1}$ $\frac{\partial^2 y}{\partial x^2} = \frac{(-2xy+1)^2 y^2 (-\frac{y^2}{-2xy+1}) + 2xy^2 (-\frac{y^2}{-2xy+1}) + 2y^2 (-\frac{y^2}$ = (-2xy+1)(2y3) + 2xy+ +2y3(-2xy+1) (-2xy+1)3 $= \frac{-4xy^{4} + 2y^{3} + 2xy^{4} - 4xy^{4} + 2y^{3}}{(-2xy+1)^{3}} = \frac{-(exy^{4} + 4y^{3})}{(-2xy+1)^{3}}$ Ex 10 contid: Find slopes at each intersection pt: At (3,2): reciprocals, 60

At (3,2) = $\frac{2}{9}$ (3,2) = $\frac{3}{2}$ At (3,2) = $\frac{4(3)}{9(2)}$ = $-\frac{12}{9(2)}$ = $-\frac{2}{3}$ At (-3,2): hyp at (-3,2) = $\frac{4(3)}{9(2)}$ = $\frac{3}{9(2)}$ = $\frac{$ At (3,2): hyperbolg: